
Lab 1: OSI Model & IP Addressing – Solutions 

 

Part A: 

Q1:  

Using the Class table: 

Class Range 

A 1-126 

B 128-191 

C 192-223 

D 224-247 

 

Address Class 

131.107.2.89 B 

3.3.57.0 A 

200.200.5.2 C 

191.107.2.10 B 

127.0.0.1 A 

 

Q2:  

Classes A and B have 16,777,214 and 65,534 hosts, respectively. 

Q3: 

Class C which has 254 host. 

 

 

 

 

 

 

 

 

 



Part B: 

 

a. It is not a valid class B address since it has more than 32 bits 

b. It is a valid class C address with a subnet mask 255.255.255.0 and falls between the class range 

from 192.0.0.0 to 223.255.255.255 

c. It is not a valid class D address since it is only used for multicasting purposes and not to be 

assigned to hosts 

d. It is a valid class A address with a subnet mask 255.0.0.0  

e. It is not valid even though it’s a class A because the first bits of the network address are all 0s  

f. It is a valid class B address with a subnet mask 255.255.0.0 

g. Even though it is a class A address, it is not valid since all addresses in 127 are not allowed to be 

used 

h. It is not a valid class C address because the assigned host bits are all 1’s and it should only used 

for broadcasting  

i. It is not a valid address because the network and host bits are all 1s  

 

 

 

 

 

 

 

 

 

 



Part C: 

Network Portion                      Host Portion 

 

 

Part D: 

 

 

 



 

Part E: 

 

Where the highlighted numbers are the host IDs 

 

Part F: 

 


